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1. With reference to Mughal India, what 3. The Global Competitiveness Report is

isfare the difference/differences published by the .
between Jagirdar and Zamindar? .
1. Jagirdars were holders of land (@) International Monetary Fund
assignments in lieu of judicial and _ ' ,
police duties, whereas Zamindars {b) United Nations Conference on
were holders of revenue rights Trade and Development
without obligation to perform any -
duty other than revenue collection. (c/ World Economic Forum
2. Land assignmenis to Jagirdars
were hereditary and revenue rights (d) World Bank
of Zamindars were not hereditary. -
Select the correct answer using the code Q{ ,
given below. 4. Consid owing statements about
‘th: Act of 1813’ :
{aj 1 only
L : . ended the trade monopoly of the .
{b) 2 only East India Company in India except
for trade in tea and trade with
{¢) Both 1 and 2 China. _
_'{d) Neither 1 nor 2 : :: > 2. It asserted the sovereignty of the
) British Crown over the Indian
\ territories held by the Company.
JOrmEe it 3. The revenues of India were now
of the

controlled by the British

2. With reference to land
independent India, whic@
Parliament.

following statements is
fa) The ceiling were aimed at
family hold d not individual Which of the statements given above are

holdi
correct?
{b) Thcﬁijg im of land reforms was ‘

agricultural land to all

e landless. fa} 1 and 2 only
{c) It resulted in cultivation of cash () 2 and 3 only
crops as a predominant form of

 cultivation. (¢) 1and3 only

(d) Land reforms permitted no
exemptions to the ceiling limits. {d 1,2 and 3
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5. With reference to Swadeshi Movement, 8. In which of the following relief sculpture

consider the following statements : inscriptions is Ranyo Ashoka’ {King

1. It contributed to the revival of the Ashoka) mentioned along with the stone
indigenous artisan crafts and portrait of Ashoka?

industries. (@) ganahalli
2. The National Council of Education .
was established as a part of {b) Sanchi
Swadeshi Movement. {c) Shahb hi
Which of the statements given above {d) Sohgaura
isfare correct?
{fa) 1 enly '
b) 2 only 9, Consider the fo |
() Both 1 and 2 1. Deificatiomof the Buddha

d%’lﬂ path of Bodhisattvas

rshlp and rituals

{d} Neither 1 nor 2

6. Consider the following pairs :
. : f the above is/are the feature/
Movement/ Leader

res of Mahayana Buddhism?
Organization
1. Al India Anti- : Mahatma Gandhi !aJ 1 only
Untouchabi]ity (b) 1 and o only
League
{c¢g 2and 3 only

2. All India Kisan : Swami
Sabha Saraswa (d 1,2 and 3

3. Self-Respect

Movement - N"’“"k 10. With reference to forced labour (Vishti) in
Which of the pairs above is/are India during the Gupta period, which
correctly match one of the following statements is
fa) 1 only correct?

{b) 1 an ‘ {a) It was conmdered a source of
fo 2 ly : income for the State, a sort of tax
(d 3 paid by the people.
/?A _ , (b} It was totally absent in the Madhya
. Which? one of the following is not a Pradesh and Kathiawar regions of

Harappan site?
{a) Chanhudaro
(b) Kot Diji

{c) Sohgaura
(d) Desalpur

BKL-F-GHP/54A

the Gupta Empire.

{c) The forced labourer was entitled to
weekly wages.

(d) The eldest son of the iabourer was
sent as the forced labourer.

« |PTO.
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11. Building ‘Kalyaana Mandapas’ was a
notable - feature in the temple
construction in the kingdom of

{a) Chalukya
(b} Chandela
{c) Rashtrakuta
{d) Vijayanagara

12. Consider the following statements :

1. In the revenue administration of
Delhi Sultanate, the in-charge of
revenue collection was known as
‘Amil’,

2. The Iqta system of Sultans of Dethi
was an ancient indigenous
institution.

3. The office of Mir Bakshi’ came into
existence during the reign of Khalji
Sultans of Delhi.

Which of the statements given abo
is/are correct?

{a) 1 only

(b) 1 and 2 only
fc) 3 only

(d 1,2 and 3

ta%\cnts

13. Consider the fo]lo

1. Saint Ni Was a contem-
porary
2. Sai was greatly influenced
Shaikh Ahmad Sirhindi.

Which of the statements given above
is/are correct?

fa) 1 only

(bt 2 only
{fc) Both 1 and 2
(d) Neither 1 nor 2

BKL-F-GHP/54A
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14. With reference to the British colonial
rule in India, consider the following
statements :

1. Mahatma Gandhi was instrumental
in the abolition of the system of
Yndentured labour’.

2. In Lord Chelmsford’s ‘War
Conference’, Mahatma Gandhi did
not support the resolution on
recruiting Indians¢for World War.

3. Consequent u e breaking of
Salt Law b people, the
Indlan ngress was

by the colomal

sE@ statements given above are

and 2 only

1 and 3 only

{0 2 and 3 only
(d 1,2 and 3

15. With reference to Indian National
Movement, consider the following pairs :

Person Position held
1. Sir Tej Bahadur : President, All India
Sapru Liberal Federation
2. K. C. Neogy : Member, The

~ Constituent Assembly

: General Secretary,
Communist Party of
)India

3. P. C. Joshi

Which of the pairs given above is/are
correctly matched?

{at 1 only

() 1 and 2 only

fci 3 only

{d) 1,2 and 3

[ P.T.O.
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16, With reference to Mian Tansen, which

one of the following statements is not
correct?

{a] Tansen was the title given to him by
Emperor Akbar.

(b} Tansen composed Dhrupads on

Hindu gods and goddesses.

{c}  Tansen composed songs on his
patrons. :

(d) Tansen invented many Ragas.

17. Who among the following Mughal
Emperors shifted emphasis from
illustrated manuscripts to album and

{a) Humayun

19. Atal Innovation Mission is set up under
the '

fa) Department of Science and
Technology

{b) Ministry of Labour and
Employment

B

stry of Skill' Development and
ntrepreneurship

individual portrait? v o
v%z& On 21st June, the.Sun )

18. Which one oﬁw;\&g National Parks {b) does not set below the horizon at

lies compl in the temperate alpine Antarctic Circle
zone? ‘

{a) as National Park

(b} Akbar

{c) Jahangir
' {a} does not set below the horizon at

{d) Shah Jahan the Arctic Circle

fc} shines vertically overhead at noon

t
{b) Namdapha National Park on the Equator

fc) Neora Valley National Park _
(d) shines vertically overhead at the

(d) Valley of Flowers National Park Tropic of Capricorn

BKL-F-GHP/B4A 9 [P.T.O.
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21, Which one of the following groups of

. plants was domesticated in the New

World’ and introduced into the Old
World"?

{a) Tobacco, cocoa and rubber
{b) Tobacco, cotton and rubber
fc) Cotton, coffee and sugarcane
{d) Rubber, coffee and wheat

22. Consider the following statements :

1. Asiatic lion is naturally found in
India only.

2, Double—humped camel is naturally
found in India only.

3. 'One-horned rhinoceros is naturally
_found in India only.

Which of the statements given above
- isfare correct?

{a) 1 only

(b) 2 only

fe) 1 and 3 only

(d 1,2 and 3

23. Consider the following pai

1. Pandharpur &xandrabhaga
2. Tiruc% Cauvery

3. Hampic) : Malaprabha
Which € pairs given above are
correctly, matched?

(@) 1 and 2 only

" (o) 2 and 3 only
fc) 1 and 3 only
(d 1,2-and 3

Famous place

BKL-F-GHP/54A 11

24. In a given year in India, official poverty
lines are higher in some States than in
others because

{a) poverty rates vary from State to
State '

{b) price levels vary from State to State

) Gross State Product varies from

State to State
(d} quality of publi ution varies
~ from State

25. Inthe con ich of the following do
suggest the use of cirrus
inning technique and the

of sulphate aerosol into _-
phere?

{(a) Creating the artificial rains in some
regions

{p) Reducing the frequency and
intensity of tropical cyclones

fc) Reducing the adverse effects of
solar wind on the Earth

{d) Reducing the global warming

26. In the context of which one of the
following are the terms Ppyrolysis and
plasma gasification’ mentioned?

fa) Extraction of rare earth elements
(b) Natural gas extraction technologies
{c) Hydrogen fuel-based automobiles

{d) Waste-to-energy technologies

[P.T.O.
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27. Which of the following are in 29, Conéider the following pairs :
Agasthyamala Biosphere Reserve? '

o ' ’ ' Wildlife Naturally
(@) Neyyar, Peppara and Shendurney . found in
Wildlife Sanctuaries; and Kalakad .
Mundanthurai Tiger Reserve 1. Blue-finned Mahseer : Cauvery River
(b} Mudumalai, Sathyamangalam and I Dolphin . Chai .
: ) ‘ : ambal River
Wayanad Wildlife Sanctuaries; and 2 rrawaddy' P
Silent Valley National Park 3. Rusty-spotted Cat . stern Ghats
fc} Kaundinya, Gundla  Brahme- -'
swaram and Papikonda Wildlife '
Sanctuaries;  and Mulkurthi Which of the irs, given above are
National Park correctly ma

{d) Kawal and Sri Venkateswara
wildlife Sanctuaries; and (e} only
Nagarjunasagar-Srisailam Tiger

Reserve ' @ and 3 only
' Q ¢ 1 and 3 only

28. Consider the following statements :
{d 1,2 and3
1. Some species of turtles’

herbivores. \
2. Some species of fish are herblvor

30. Why is there a great concern about the
3. Some species of m ‘microbeads’ that are released into
are herbivores.

environment?
4. Some specie & are )

vlv-lpa_rous {a) They are considered harmful to
' marine ecosystems: ’
Which of the statements given above are D .
co {b) They are considered to cause skin
cancer in children.
(@) 1 and 3 only (¢} They are small enough to be
(b) 2, 3 and 4 only : absorbed by crop plants in irrigated
fields.
fc} 2 and 4 only
{(d) They are often found to be used as
{d 1,2,3 and 4 food adulterants.

BKL-F-GHP/54A 13 B [B.T.O.
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31. Recently, there was a growing awareness

in our country about the importance of
Himalayan nettle (Girardinia diversifolia)
because it is found té'be a sustainable
source of

{a} anti-malarial drug

{b) Dbiodiesel

fc} pulp for paper industry

(d) textile fibre '

32. For the measurement/estimation of

which of the following are satellite

images/remote sensing data used?

1. Chiorophyll content in the
vegetation of a specific location

2. Greenhouse gas emissions from
rice paddies of a specific location

3. Land surface temperatures of a .

specific location

Select the correct answer using the code

34. Which of the following statements are

correct about the deposits of ‘methane
hydrate’? o

1, Global warming might trigger the
release of methane gas from these
deposits.

2, 'Large depoéits of ‘methane hydrate’
are found in Arctic Tundra and
under the seafloor.

3. Methane in atmosphere oxidizes to
carbon dioxid a decade or
. .

0. \
Select c@ swer using the code
given %
{a} %d 2 only

and 3 oniy

given below q :C) 1 and 3 only
fa) 1 only | % (@ 1,2 and 3
(b} 2 and 3 only _

fc) 3 only : . y .
(d) 1,2 and 3 : \ 35. Consider the following :

Chhattisgarh
2. Madhya Prade h&
3. Maharashtra@
4. Odisha\Q : -
With refcﬁ:j the Siates mentioned

1. Carbon monoxide
33. Consider the following S@
1. '

abo s of percentage of forest
cove total area of State, which
one the following is the correct
ascending order?

fa) 2-3-1-4

(b) 2-3-4-1

fc) 3-2-4-1

{d} 3-2-1-4

BKL-F-GHP/54A

2 Met}aane ‘
3. Ozone
4. Sulphur dioxide

Which of the above are released into
atmosphere due to the burning of
crop/biomass residue?

fa) 1 and 2 only
{b} 2, 3 and 4 only

fc) 1 and 4 only
{d 1,2,3 and 4

[P.T.O.



36. TrfaRad 3wt w fem Hifvm

|R PR W WM
o am

1. Ufsufw wrr : ayemtREn
2. [ HOR : FIRET
3. W AR FEfEEE
4. YIH IR HiEH
5. & UrR : e
I § A HH-8 I w gafm #7
fa) Faa 1, 2 3R 4 .
(b)) Had 1, 3 3 4
(c) %a@ 235

(d 1,2, 3, 43R5

37. Tafafan & 4 F-a 3w e o =l &

39. wrd # FEIRH, Wt el wRe ik
ELESIETE F TS ) IR & T e 2
2 Tarr T v & gRme Ry s 7
(@) F H fowmht

(b) GG @ § qfams

40. ﬁcri%r%mqtﬁwﬁﬁrq:

(ymzamasaﬂm,mmaamaaﬁ

R e # amEe 1 we wg Fafes w7 A P A D S
(o) A VRA TR 3 T a1ftRmens &)

(b) Wwa % 2. W uf (Gww o ) P,
(c) FMR 2010, 9Fd &R 9 THH ged H

(d) fagam
38. Frfiiee gt w frer Hif ;

Tewrg

BRG] B

et

@1'1 HEC IEEY)
SUYH § A -8 3w wd gfera €7
fa) 1,23R4

(b} 1,3 3R 4

¢ 235

(d) 33Rs

%

nos N e
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\g

Tegfodi % R R w0 &)

3. AE v (Waw R weaw) fam,
2010, @ e ¥ amEE &% @
eI &A1 H oft wiifE = €, W
o wiftreer g0 Fuffa e w2

IYE § F BH-U/D B w2 /R
| (a) Faa 1 3R 2

(b) a2 R 3

() ¥« 3

d 1,233



36. Consider the following pairs : 39.

Sea Bordering country
1. Adriatic Sea : Albania
2. Black Sea : Croatia
3. Caspian Sea : Kazakhstan
4. Mediterranean Sea Morocco
5. Red Sea : Syria

Which of the pairs given aboveA are
correctly matched? '

(@ 1,2 and 4 only

(b) 1,3 and 4 only

fc) 2 end 5 only 40.
d 1,2,3, 4and5

37. Among the following, which one is the

the last five years?

In India, the use of carbofuran, methyl
parathion, phorate and triazophos is
viewed with apprehension. These
chemicals are used as

' {a) pesticides in agriculture

{b) preservaﬁves_ in processed foods
{c) fruit-ripening agents

(d) moisturising age in cosmetics

%’ing statements :

sar Convention, it is
ory on the part of the
rnment of India to protect and

Consider

1. Un

territory of India.

largest exporter of rice in the world in ‘ C)onserve_ all the wetlands in the

(@) China :

(b) India %
{¢) Myanmar

(d) Vietnam \?\

38. Consider the following pairs @
Glacier - ver
una

1. Bandarpunch & Y.

2. -Bara Shigri (& Chenab

3, Milam .+ Mandakini
4. Si ch@ :  Nubra

5. .1 Manas

Which 'of the pairs given above are
correctly matched?

(@ 1,2 and 4
(b) 1,3 and 4
fcj 2 and5
(d) 3 and S5

BKL-F-GHP/54A 17

2, The Wetlands (Conservation and
Management) Rules, 2010 were
framed by the Government of India
based on the recommendations of
Ramsar Convention.

3. The Wetlands {Conservation and
Management) Rules, 2010 also
encompass the drainage area or
catchment regions of the wetlands
as determined by the authority.

Which of the statements given above
jsfare correct? '

(a) 1 and 2 only
() 2 and 3 only
{co 3 only

(d) 1,2 and3

[ P.T.O.



41. FefaRen sut o fem fiftm .

1. ﬁmqafamﬁmsam%m
Friw e §) :
2. el i § sl frjw w3

3. g WM wlEm ¥ sfufamia
TR N Ffes Q&4

I § & B/ T Ty
@ F11 33

(b) ¥a@ 2 3 3

I )

[d 1,23R3

42. m,wmmméﬁmﬁmﬁw
T 87

(o) T T # Gret e R Py
(b) IWREEREHR qutaq
{c) T T

(d) I =R

‘&aﬁ

43. WESE qiEeT ¥ 99 ¥
TRESE Haffa NG (H

FH F yEEr & el Emﬁqt

TR i

1. H-CNG ¥ F G N FlEA
AaEe %1 faeliam )

2. W H-CNG ¥ eRiars
3R IOHSH! I B FA A

3. 8 & fu du7 ¥ = § ONG ¥ am

FEENH H AEA ¥ YR W gl

& 7 foremn s v 2

4. CNG H 308 H-CNG ésﬂ # wH
wffen st B '
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IR A § PA-w/A T wd 2/

(@ ¥ae1

(b) ¥4 2 IR 3

fc) Fad 4

(d 1,2, 33r4q

44, TErBIRG T § g A TP

(@) 338 ¥ Fdw H TR AT
L) %l@

(b) gﬁ%\maﬁmmmﬁaw

( Tl 3 9 & A B

Rafmwm R E

i?l
% (d) TRA WEd FW T N ufee B R

?\
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4s. Fefafe wo w fimr Hif ;

1. m%ﬁﬁm%mﬁﬁ:ﬁmmm
T Gk T A M ¥ fafm |
= gAfderrT % W o fan

2. WA F wfauH ¥ 993 TR w g
SHH WAFEe™ 7 APl W R
T 1@ IR N wwE
i e o

I & A Ao/ T wd A
(@) Fa 1

(b) ¥ 2

fc) 1 3R 2 2t

(d) a1, a8 2



41. Consider the following statements :

1. Agricultural soils release nitrogen
oxides into environment.

9. Cattle release ammonia into
environment.

3. Poultry industry releases reactive
nitrogen - compounds into
environment. '

Which of the statements given above
isfare correct?

{a) 1 and 3 only

{b) 2 and 3 only

fc) 2 only

{d) 1,2 and 3

. What is common to the places known as
Aliyar, Isapur and Kangsabati?

fa) Recently  discovered uraninm
deposits

(b) Tropical rain forests
{c) Underground cave systems ?\
{d) Water reservoirs ' \

43. In the context of proposals o(&lse of

hydrogen-enriched CN NG]j as fuel
for buses in publi sport, consider

age of the use of

e elimination of carbon

noxide 'emissions.

2. as fuel reduces carbon
diaxide " and hydrocarbon
emissions.

3. Hydrogen up to one-fifth by volume
can be blended with CNG as fuel
for buses.

4. H-CNG makes the fuel Iless
expensive than CNG.
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Which of the statements given above
is/are correct?

(a) 1 only

{b) 2 and 3 only
{c) 4 only
[d 1,2, 3end 4

44, Why are dewdrops formed on a
cloudy night?

fa) Clouds radiation
release Earth’s surface.

(6} Clouds ct back the Earth’s
rad A

(c) %&_ﬂh’s surface would have low
ture on cloudy nights.

Clouds deflect the blowmg wind to
ground level.

45. Consider the fbllowing statements :

1.. The 44th Amendment to the
Constitution of India introduced an
Article placing the election of the
prime Minister beyond judicial
review. o

2. The Supreme Court of India struck
down the 99th Amendment to the
Constitution of India as being
violative of the independence of
judiciary.

Which of the statements given above

is/are correct?

{af 1 only

b) 2 only

{c) Both 1 and 2
{d) Neither 1 nor 2

[P.T.O.



47. &8

46, Frfafas st w fBem fivg ;.

1. =Ew (siw) siftfew, 1968 %
HIUR, WRA & a9 A F R
I W AIE SO ¥ e F
W BT % reas g0 aredfiwn T8 fea
T o)

2. WG W wfaum 97 yRenia wtar & eiv
=R 2 ¥ 5 wr-wm wa ¥ T=ew
RTeE *® AT ‘A o fag
FRER H T =] §)

3. WRA % IFW ARG ¥ AR %

- TEhEm R TR F =it rEmw
(Sita) wififem, 1968 # Ry §)

4. IR R =mEmim ¥ wefem $ wae
% 7aeM ¥ forn s &, @ AR
fie & 7 97 e w6t % Y0 v
T T A 3R W 9 R g gew
HEAl % wEAd g 91 WEE % T4 WA ¥
Fd W@ M ya N T g F
F9-A-+0 J-fod gy wmila @)

I § | PH-w/8 woF ud B/E7

fa) 132

() ¥ 3

(c) w334

@ 1, 334

O
RS

% A WRd F wfage
# e

(a)
(b) TS SAETGL wER
(c) 3fRa e

(d) R T
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48. Trfafas worl w fer Hife

1. ¥RG WHR SR HET &9 61 Qe
sieu e % FrRfewre 3 fn )

2. 9dOF #, Fen @ w1 A iz %
AR R foram s )

3. WE T % W e ute] g
w G FA F T FRrer oI
o, g s W@ dEa swE 3§

R R

I9F ¥ A FR-w/A %/%?

fa) a9 1

40

TG F AW W e S enun R |
T2 3 B

2. 39w fufem wta sm wfte Ren T
Tl

3. ¥R TN w92’ wRa ¥ GfuE § weli-
wite afonRa foem mr )

ST A ¥ BA-N/A Fom 9D 2/
fa) Fad 132

(b) %99 3

(c) Fad 2 3w 3

(d) 1,233

(d)
) b@%ﬁ«ﬁwﬁm:
?‘ {(Frdam Tamwr) sifufym, 1950 =8

\?‘%

50. WWa % wiwm H Bw wggd ¥ oande

S i w5, @ % o el s =)
RO 37Fa A v e Ren o g 27
(@) el srggsh
(b) ol ST
() e g
(d) =l g



47. The

46. Consider the following statements :

1. The motion to impeach a Judge of
the Supreme Court of India cannot
be rejected by the Speaker of the
Lok Sabha as per the Judges
(Inquiry) Act, 1968.

2. The Constitution of India defines

"~ and gives details of what
constitutes ‘ncapacity and proved
misbehaviour’ of the Judges of the
Supreme Court of India.

3. The details of the process of
impeachment of the Judges of the
Supreme Court of India are given in
the Judges (Inquiry) Act, 1968.

4. H the motion for the impeachment
of a Judge is taken up for voting,
the law requires the motion to be
backed by each House of the
Parliament and supported by a
majority of total membership of

that House and by not less th

' two-thirds of total members of at
House present and veting.
Which of the statements glven

is/are correct?
fa) 1 and 2

fb) 3 only

{c) 3 and 4 onl

@ 1,3 an\Q

a\\

edule was introduced in
the nstitution of India during the
prime ministership of

{a) Jawaharlal Nehru
(b} Lal Bahadur Shastri
{c Indira Gandhi

{(d) Morarji Desai

BKL-F-GHP/54A
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48. Consider the followirig statements :

1. Coal sector was nationalized by the
Government of India under Indira
Gandhi.

2. Now, coal blocks are allocated on
lottery basis.

3. Till recently, India lmporl:ed coal to

. meet the shortages of domestic
supply, but now India is self-
sufficient in coal production.

Which of the state
is/are correct?

{a). 1 only

() 2 and @v
o
{dj

@thc following statements :

Parliament (Prevention of

given above

e
Disqualification) Act, 1959 exempts
several posts from disqualification

on the grounds of ‘Office of Profit’.

The above-mentioned Act was
amended five times.

The term ‘Office of Profit’ is well-
defined in the Constitution of India.

Which of the statements given above
isf/are correct? _
{a) 1 and 2 only
(b) 3 only
fc) 2 and 3 only
{d 1,2 and 3
Under which Schedule of the
Constitution of India can the transfer of
tribal land to private parties for mining
be declared null and void?
{a) ‘Third Schedule
{b) Fifth Schedule
(] Ninth Schedule
{d) Twelfth ')S,chcdule_

[P.T.O.



51. i@ & fafiwa: ogRm woemd W (b) ¥RA W IHA A FT AR F

[Rgeeh aeitee TRee @ (PVIGs) ¥ o mﬁmmﬁﬁaﬁfﬁﬁ%mﬂﬁ
A, Frefafaa weEt g fEm S g
1. PVIGs ¥ ¥ 18 U4l au1 ©F ¥
g A far 7 & (@ 3k Reflg v B RR A,
2. T8Rw =7 O i, pvTG R ¥ : % gt \hiea % womd % faEn Rl
o F ArEet 3§ A @ R mﬁrﬁawm%;
3. W # oM@ 9% 95 PVTGs ATl w9
ﬁzriﬁ@al 2 . (d}- w
4. PVIGs %I Gft # feor iR wlw @ %:ﬁm ﬁ!ﬁlﬁﬁﬁ
St it o S §) : EFE
IR # A P-4 HYH 9 §7 %‘
53. T B fEw e F w4,
@ 1,233 : 1 el e iR
3l 1. =8 % vum 99 % WRY & 9 o %
w2 33ka ' (0 e 3 Ry s ¥ w1
(& 1,294 \q 2. 9 frd fifte Rw w o= Rumisa
. _ % T ¢ frm B, @ 8 A w
@ 1,34 (b T e A1 % P 1 Wer e 2
& I § | PA-T/Q FuT v /A
52. wrRd & wfwe & A e fafiEt # -
Iafdy  wiody AqE 7€, (@ e 1
HIRR 142 wifgets wfml W .
wfedy H We T T FR)
Frafafas § 4 -1 ©, @ o 2w {b) %ﬁaz_
27 :
_ (c) 13226
(a} wra F fratem M g/ o wd=gt =
e = o fou o Aol 2 fed |
i e & et T @ S asdh (d) a1, ad2
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51. Consider the following statements about

Particularly Vulnerable Tribal Groups
(PVTGs) in India :

(b). The Supreme Court of India is not
_ constrained in the exercise of its
. powers by laws made by the

Parliament.
1. PVTGs reside in 18 States and one T
: Union .'l‘e_rnfcpry._ {c) In the event of grave financial crisis
in the country, the President of
India can declare Financial
' Emergency  without the counsel
. from the Cabinet.

‘2. A stagnant or declining population.
is one of the criteria for determining
PVTG status.

3. There are 95 PVTGs officially
notified in the country so far. {d) State Legislatu annot make

: laws on ce atters without the
4. Irular and Konda Reddi tribes are

concu f Union Legislature.
included in the list of PVTGs. E

Which of the statements given above are % e
correct? S 53. ference to the Legislative
: ssembly of a State in India, consider

e following statements :
. % 1. The Governor makes a customary
; address to Members of the House
) 2,3 and 4 at the commencement of the first
- ' , session of the year.
fc) 1,2 and 4 '
{d) 1, 3 and 4 @

52. With referenc (& Constitution of
India, p itio or limitations or
provision§ conthined in ordinary laws

fa) 1,2 and 3

2. When a State Legislature does not
have a rule on a particular matter,
it follows the Lok Sabha rule on
that matter.

" Which of the statements given above
igjare correct? o

can prohibitions or limitations
on constitutional powers under '
Article}142. It could mean which one of (a) 1 ony
the following?

(b} 2 only

{a) The decisions taken by the Election
Commission of India  while
‘discharging its duties cannot be
challenged in any court of law.

" (¢) Both i and 2

{d) - Neither 1 nor 2
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54. Ffafas $oA W BER fif ;

1. ¥ENR % fag g Uy v [
T FEYE IR FIE (UNCAC)] #
o, wgE ot wgme 4 waRel @
TRl % faeg & N’ diar ?)

2. UNCAC ¥ % %1 Wa§ ygen faftm:
FregH ey yEER-RAdh R

3. UE-9R @im smuw % feg Wyw wy
A (AR WE FovE It
TR ATHFESE HRE (UNTOC)] Y
s faRea W w e sem =
e R, fee ae = ol =
FF 3y wikE A dem i R R
13y oli% ¥ 9 off 7 of)

4. WES F- AR 909 R g U
FAI [qAReS v e o g e
¥ (UNODC)) 5% ¢ % w6 Ul
g UNCAC 3R UNTOC @6t %
FEFEE § 9T w8 % [ sfiefRe

2. IgyfE SRy o S gRaRe g
(7 aftmt A wraar) wfifm, 2006
% gER, afa o Moy gHbe

3. Sggm SR O o R ST
(@ Rt A wEE) iR,

2006, T fafagt = dw e F
e @ argEfa 3

mﬁﬁﬁﬁaﬁa-m/ﬁ&&?
(@) ¥ 1 @

o

) had 3

_%I | ?\ (@ 1,233
ST A -2 o A \

fa) Faa 1 3w 3 @
(b) Faw 2, 33 4 &%
fc) Fae 2 AR (a

(d) 1,2,331‘»G\)Q

55. fafafiaa 9t fEm fif

1. 9RdE 9 AR, 1927 3 7@ # g
T ¥ AFER, I P B aad
# I i 9w H w12 FRR w i
2
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56. WRA ¥ URF %1 B-w 7S A we H

=ftr ¥ fiam w0 % feh =fs ¥ aftmr |
W A 27

(@) HIT=E 19

(b) IR 21

(c) TR 25

(d} FT= 29



S84, Consider the Jollowing statements :

" 1. The United Nations Convention
against Corruption (UNCAC) has a
‘Protocol against the Smuggling of
Migrants by Land, Sea and Air’.

2. The UNCAC is the ever-first legally
binding global anti-corruption
instrument,

3. A highlight of the United Nations
Convention against Transnational
Organized Crime (UNTOC) is the
inclusion of a specific chapter
aimed at returning assets to their
rightful owners from whom they
had been taken illicitly.

4. The United Nations Office on Drugs
and Crime (UNODC) is mandated
by its member States to assist in
the implémentation of both UNCAC
and UNTOC. :

(@) 1 and 3 only (b
() 2,3and 40 K%

fc) 2 and: %
(d) 2,&

55. Consider the following statements :

1. As per recent amendment to the
Indian Forest Act, 1927, forest
dwellers have the right to fell the
bamboos grown on forest areas.

BKL-F-GHP/54A

Which of the statements given ahove g
correct? '

25

2. As per the Scheduled Tribes and
Other Traditional Forest Dwellers
{Recognition of Forest Rights) Act,
2006, bamboo is a minor forest
produce.

3. The Scheduled Tribes and Other
Traditional Forest Dwellers
(Recognition of Forest Rights) Act,
2006 allows ownership of minor
forest produce to forest dweliers.

Which of thi @Rs, given above
is/are :6

: d 2 only
%}' 2 and 3 only
(c) 3only

{d) 1,2 and 3

56. Which Article of the Constitution of India
safeguards one’s right to marry the
person of one’s choice?

{a) Article 19
(b) Article 21
{c) Article 25

(d} Article 29

[ P.T.O.
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fa)
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57. Consider the following statements :

1. According to the Indian Patents
Act, a biological process to create a
seed can be patented in India.

2. In India, there is no Intellectual
Property Appellate Board.

3. Plant varieties are not eligible to be
patented in India.

Which of the statements given above
is/are cor_rect?

fa) 1 and 3 only

(b} 2 and 3 only

fc/ 3 only

(d) 1,2and3

58. Consider the following statements :

The Environment Protection Act, 198@ '
empowers the Government of Ind

1. state the requirement olIfpu lic
participation in the proces of
environmental protec%gnd the
procedure and manhe which it

is sought & :
" 2. lay down e stAndards for

discharge of
pollutants  from

emissio

urces

W the statements given above
is/ correct?

fa) 1 only

() 2 only

() Both 1 and 2
(d) Neither 1 nor 2

BKL-F-GHP/54A

59. As per the Solid Waste Management
Rules, 2016 in India, which one of the
following statements is correct?

fa) Waste generator has to segregate
waste into five categories.

(b} The Rules are applicable to notified
urban local bodies, notified towns
‘and all industrial townships only.

(¢) The Rules provid
" elaborate i
jdentificati

dtory on the part of waste
ator that the waste generated

?}onsider the following statements :

27

As per the Industrial Employment
(Standing Orders} Central (Amendment)
Rules, 2018

1. if rules for fixed-term employment
are implemented, it becomes easier
for the firms/companies to lay off
workers

2. no motice of termination of
employment shall be necessary in
the case of temporary workman

Which of the statements given above
is/are correct? '
(@) 1 only
{(b) 2 only
{cj Both 1 and 2
{d) Neither llnor 2

- [P.T.0.
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61. The Service Area Approach was
implemented under the purview of

o) Integrated Rural Development
Programme
{b) lead Bank Scheme

Mahatma Gandhi National Rural
Employment Guarantee Scheme

fc)

(d} National Skill Development Mission

62. With reference to the management of
minor minerals in India, consider the
following statements :

1. Sand is a ‘minor mineral’ according
to the prevailing law in the country.

minerals, but the powers regdrdi
the formation of rules related t e
grant of minor minerals lie Wi e
Ceniral Government.

3. State Governmentis
to frame rule
mining of A%Knin

Which of@\atements given above

is/are @ .

{a) E and 3 only

b} 2 and 3 only

e power
ent illegal
als.

f¢) 3 only

(d) 1,2 and 3
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2. State Governments have the po
to grant mining leases of min

63. Consider the following statements :

1. Most of India’s external debt is
owed by governmental entities.

2. All of India’s external debt is
denominated in US dollars.

Which of the statements given above
is/are correct? .

fa} 1 only

(b) 2 only

{c) Both 1 and

(d) Neither 1%no

64. Which ﬁ dllowing is not included in
th of a commercial bank in

&
; ? “wib) Deposits
{c) Investments
{d) Money at call and shbrt notice

65. In the context of India, which of the
following factors is/are contributor/
contributors to reducing the risk of a
currency crisis?

1. The foreign currency earnings of
India’s IT sector

2. Increasing the

expenditure

-government

3. Remittances from Indians abroad

Select the correct answer using the code
given. below. : .

{a) 1 only

{b) 1 and 3 only
fc) 2 only

{d 1,2 and 3

[ P.T.O.
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(b) TR T (1969) . i eIty amim ﬂ
fc) WA AR (1983)
a‘l%
(d) Wiawm ¥ R 6 when ¥y e ﬁqﬂqagaﬂ hi;e
R (2000) _ @ 13R2

v ow e

b 1,3
67. Wiiga R IR A g = R @

PR A, o = A Y o w0 R © 3,@5
Wl ®iF 99R e @ wme §,

o 1 & 7 ) o e 42 K{d): °
(@ S S | A i deedt % el A, P
b) SRF T F A S-w/ T v B/
(c) F-73 (STl H2) ?\ 1. gE0 Yt A § g e et
(@) W T (R ) \ T ¥ wheww B Rw d
_ o TRerenss i foan )
68. Friferfien et w e B (b 2. <t iy o do s
T T A T, F R T )
Tl | A ¥ 3. dledt dwadfa dem ¥, weeh 5, R
2. Wi , 2016 ¥ 9% F AN F AP o ¥ vy
i =% Coicu e it fom ) :
i e (R2R) <3 g e g 71 v w0 S
T 8 R v /A fa} %9 1 3R 2
(o) Fae 1
" (b) ¥ o | (b) a2

fe) 132 3IFH - () ¥ 3
(d) Iad1,3982 {d 1,23R3
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66. Which one of the following suggested that

the Governor should be an eminent
person from outside the State and
should be a detached figure without
intense political links or should not
have taken part in politics in the recent
past?

{a) First Administrative  Reforms

Commission {1966)

(b} Rajamannar Committee {1969)
{c) Sarkaria Commission {1983)

{d) National Commission to Review the
Working of the Constitution (2000}

67. Which of the following is issued by

registered foreign portfolio investors to
overseas investors who want to be part
of the Indian stock market without
registering themselves directly?

{a) Certificate of Deposit
(b) Commercial Paper
{c) Promissory Note

{d)  Participatory Note

68. Consider the following state ts :

1. As per law, the
Afforestation Fu
and Planning exists at
both Nation levels.

2. People’ i tion is mandatory
in the %}nsatory afforestation
pro carried out under the

atory Afforestation Fund
, 2016.

Which' of the statements given above
is/are correct? '

{a) 1 only

(b} 2 only

{c¢¢ Both 1 and 2
(d) Neither 1 nor 2
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69. In India, which of the following review

the independent regulators in sectors

like telecommunications;, insurance,

electricity, etc.?

1. Ad Hoc Committees set up by the
Parliament

2. Parliamentary Department Related
Standing Committees

3. Finance Commission

4. Financial Secto
Reforms Cominis

5. NITI Aayog

Select the :@ swer using the code

Legislative

70. With reference to India’s Five-Year Plans,
which of the following statements is/are

correct?

1. From the Second Five-Year Plan,
there was a determined thrust
towards substitution of basic and -
capital good iridustries. '

2. The Fourth Five-Year Plan adopted
the objective of correcting the
earlier trend of increased
concentration of wealth and
economic power. .

3. In the Fifth Five-Year Plan, for the
first time, the financial sector was
included as an integral part of the
Plan.

Select the correct answer using the code
given below.

fa} 1 and 2 only
(b) 2 only

{c} 3 only

(d 1,2 and 3

[P.T.O.



71, e uRw-gEm FRw ¥ [oiem
WRZFR @eie % (AIB) ¥ wof #
ﬁwi%rﬁaammﬁan?ﬁﬁn
1. AIB % 80 ¥ 3Ifte wew 1y 3)

2. AlIB & sWa 9l 91 FRUR ¥

3. AIB # timn 4 o1 #1 1% vee T8
H|

T F ¥ BA-1/Q w2/

(@) ¥ 1

(b) wHam 2 3R 3

fc) ¥ 133

(d) 1,233

72. T @ #, g 96 o) e wensit o
FR-AUE TR (RS Uhte) w

TR A F 997 32T o7

faj ¥RG WER % Mg ORI
é@aﬁ%aﬁﬁaaﬁ%ﬁmawaﬁm
Eoel|

) %ﬁﬂﬂaﬂimmﬁiﬁmnﬁx
YRESAIRI W Had Y9 FE

{c) ®50 s M it * it
Awe § ed A ¥

(d €50 g A1 3 =i
TREaieE (B , W WE-TY
Ul (FF % g g,
Fifter =0 A Bl T WG

73, AR S H T P B

27 '

fa) ¥ 9 =g

(b} W o §

(c} FE fom waem

(d) wEftE 9% F1 yEuq
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() ﬁéb, 3
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%,Nﬁms
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TETIEE) % o S AT

1. LTE %I 99E: 3G & w9 § fauPm
a1 S} 9 VoLTE %) wiaRom:
Iq 3G & w9 1 fauftr R sman ¥

2. LTE ST-3Ffd a%i% & 3l VoLTE
Fq-3fA aF% B

=9 R T F2 w7 wEm w e I gh
(@ e 1

(b) = 2

fc) 13 23H
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71. With reference to Asian Infrastructure
Investment Bank (AIIB), consider the
following statements :

1. AIIB has more than 80 member
- nations.

2. India is the largest shareholder in
AlIB.

3. AIIB does not have any members
from outside Asia.

Which of the statements given above
is/are correct?

fa) 1 only

(b} 2 and 3 only

{0 1 and 3 only

{d 1,2 and 3

" 72. What was the purpose of Inter-Creditor
Agreement signed by Indian banks and
financial institutions recently?

fa) To lessen the Government of India’
perennial burden of fiscal defici

(b} To support the infra
projects of Central and
Governments

{c) To act as independe tor in
case of applicati or loans of
¥ 50 crore or meore

(d} To aim a resolution of
stress of ¥50 crore or

more ich under consortium
lend@

73. The Chairmen of public sector banks are
selected by the

{a) Banks Board Bureau

() Reserve Bank of India

{¢) Union Ministry of Finance

(d) Management of concerned bank
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Consider the following statements :

1. Petroleum and Natural Gas
Regulatory Board (PNGRB) is the
first regulatory.body set up by the
Government of India.

2. One of the tasks of PNGRB is to
" ensure competitive markets for gas.

3. Appeals against the decisions of
PNGRB go before the Appellate

Tribunals for Electricity.
Which of the s ents n above are

correct?

o
(b (&‘ 3 only -

ic d 3 only
1, 2 and 3

75. With reference to communication
and current account deficit _technologies, what is/are the
c
e .

difference/differences between LTE
(Long-Term Evolution) and VoLTE {Voice
over Long-Term Evolution)?

1. LTE is com:honly marketed as 3G
and VoLTE is commonly marketed
as advanced 3G.

2. LTE is data-only technology and
VoLTE is voice-only technology.

Seélect the correct answer using the code
given below. :

{a} 1 only

(b) 2 only

fc) Both 1 and 2
{d) Neither 1 nor 2

[P.T.O.



76. Wigd AN (GieA) SfufEm, 2017 ¥ @y
8, Fraffaa § 3 fa-w/8 == vl /80

1. miadt afen, wge-gd @9 wdd e
EErR o W ¥ e w3 saE 6
THaAR E

2. RurE am wyfiert ¥ R oom @)
sfif #7-3- oe W) Rnpe W f
stgufa ¥ sAfard @)

3. A w=l awh Wi ® v =
Ecal

A= e 0 g2 A wEm W wd Iw g

(@) *aa 1 32

(b) % 2

c) “ad 3

fd) 1,23x3

77. Tafafen # 4 ¥F-w F
g g=Ee (39 AT =)
1 I0-gIHF T Y

(d) Fmio ol gt w6 w=e
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78. WK # frfefan # A el weepl
Tt % w3 # ‘Freaite Sees Ti’ s
T mar o7 :

f@) ¥ fufern sl (Wt ok we)
frm, 1998

(b) TEGFa wnfes (o ek I9E)
frm, 1999

fc) ¥-3mafde (yEvm

(d) @ g

fm, 2011

, 2011

fore @ A snfts @

e K framt ) yprm g
At F8 ?) F wm-wy e w0

fc) STIo1 IR WYR a fem e
(d} T UTEHATE SR a9 MW % 9K

80. fft oft 3w ¥ wal &, Ferfef 3 A 5 39
W R e dh (S SRew)  wm
w9 & |qugn St

{a} ~SFEE & Wl w1 g

(b) T@F W, I AMMNE W= iR
HIHT 1 wiF

(c) FriTfier g Qg o SR @ AEy
(d) TS T e R SR wnise w5 T



' 76. Which of the following statements is/are
_correct regarding the Maternity Benefit
(Amendment) Act, 20177

1. Pregnant women are entitled for

78. In

India, ‘extended producer
responsibility’ was introduced as an
important feature in which - of the
following? :

three months pre-delivery and {a} The Bio-medical . Waste
three months post-delivery paid (Management and Handling) Rules, -
leave. ' ' 1998 ' ‘
(bj The Recycled Plastic
9. Enterprises with créches must (Manufacturing and Usage} Rules,
allow the mother minimum six 1999 :
créche visits daily. '
’ {c) The e-Waste ement and
3. Women with two children get _ Handling) R
reduced entitlements. (d} The Fo and Standard
Re
Select the correct answer using the code .
- given below. - 79. The c cost of food grains to the -
' d ration of India is Minimum

(a} 1 and 2 only

(b} 2 only %
{c) 3 only \?\
(d) 1,2 and 3

77. Which one of th ing is not a

sub-index d Bank’s ‘Ease of
Doing Busi Index"?
{a) ance of law and order

(b) Paying taxes
{(c) Registering property

(d) Dealing with construction permits
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rt Price and bonus (if any) paid to
v: farmers plus E ﬁ
{a) transportation cost only

(b} interest cost only

fc) 'procureme'nt incidentals and
distribution cost

{d) procurement incidentals  and
charges for godowms

80. In the context of any country, which one

of the following would be considered as
part of its social capital?

(a) The proportion of literates in the
population

{b) The stock of its buildings, other
infrastructure and machines '

() The size of population in the
working age group :

(@ The level of mutual trust and
harmony in the society

[P.T.O.



81. WG & WRYA ¥ dad F, frefifes st w

ﬁaﬂﬁ'ﬁﬂl{:

1. felt oh S R 9 G g
Ay NiYa =W A e o 39 =y
it st 7 )

2. Wi % dfeem ¥ Rl o dum w
WRA % I=AH AT BRI 5 T8 S8
EikeT il

ITYE § ¥ BR-a1/ o wh ¥

(a) Fad 1

(b) T 2

c) 1 3w 2

(@) a1, 3d2

ot &t 6t o R 2w
gl R Faneit ¥ gt £
i IR #1

2. PPP ek ¥ g2 {@ + Bl
ol 5

(b) Haw 2
fc) 1 322

(d) Ia 1,382

BKL-F-GHP/54A

83. Wi % e v vt & wlw 6 wuat 6 ot

& @ #, Pl wuAt w foem Hfim

1. 97 H @l ¥ sifa & srferam 2

2. VR R TR F wla &9, faw B
el % siwla & ) g ol )

3. W AN T &, A A F o
6 gor #§ arftes B

4. A G & siela Ya R wm A

ECUERE R R ¢
(a) =1 31‘!13&

(b) ¥ g@n

fe) 4

{d()%s *we

aR e F ot 8, e ofw a6t &

LIERCLR R Sl S
AR AT T R7

(@) WA

(b) TS B
fc} =&

(d) ¥l d=

88. TSU-=qRal % wWel #, Frfufaa § § fra

B 9 RN TR T e % wu
# wisR w97

(@) RS TR B T S e
o
() T %1 "

{c) TOTTER 3 Wi TR =1 3Ew -

{d) w4 * goia: fisfe =60 w1 sam



e T N

- 81. With reference io the Constitution of
India, consider the following
statements :

1. No High Court shall have the
jurisdiction to declare any central
law to be constitutionally invalid.

2. An amendment to the Constitution

of India cannot be called into

- question by the Supreme Court of
India. '

Which of the statements given above
isfare correct?

fa) 1 only
(b) 2 only

{c/ Both 1 and 2

_ {d}" Neither 1 nor 2

82. Consider the following statemen

1. Purchasing Power Parity )
exchange rates are c ated by

comparing the prices, 6f same
basket of goods Q%s ices in

different countri&&

2. Interms of s, India is the

sixth 1 s omy in the world.
Whigh o statements given above
isf ct? '
faj 1 only

(b) 2 only

{c) Both 1 and 2

{d) Neither 1 nor 2
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83. With reference to the cultivation of Kharif
crops in India in the last five years,
consider the following statements :

1. Area under rice cultivation is the
highest.

2. Area under the cultivation of jowar'
is more than that of oilseeds.

3. Area of cotton cultigtion is more
. than that of sugarcane.

4. Area under sugar cultivation
has steadily d .

Which of the s ts given above are

correct? QK
@ 1 y N

(b) /2%3and 4 only

d 4 only
?\ ,2,3and 4
84 Amdng the agricultural commodities

imported by India, which one of the
following  accounts for the highest

_ imports in terms of value in the last
five years?

(a) Spices

(b} Fresh fruits

(c) Pulses '

{d) Vegetable oils .

85. In the context of polity, which one of the
~ following would you accept as the most
appropriate definition of liberty?

{a) Protection against the tyranny of -
political rulers

(b) Absence of restraint

{c} Opportunity to do whatever one
likes

(d) Opportunity to develop oneself fully

[ P.T.O.



.86, Wl w9 Y fiae I & g Pefafe §
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TN e Fatfte Sty Igr T &7

fa) -0 wgel & sE W PEaw ek
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(b) WREE R N WY gt &
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STER =
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87. Frfofea s w f=m $if .
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(d 1,233
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86. Which one of the following is not the
. most likely measure the Government/
RBI takes to stop the slide of Indian
rupee? '
fa) Curbing imports of non-essential
‘goods and promoting exports

{b) Encouraging Indian borrowers to
issue rupee dcnommated Masala
Bonds - '

{c) Easing conditions relating to
external commerclal borrowing

{d) Following - an . expansionary
monetary pohcy

88. Which of the following adopted a law on

data protection and privacy for its
citizens . known as ‘General Data
Protection Regulation’ in April 2016
-and started implementation of it from
25th May, 20187 .

(@ Australia

‘() Canada

{¢} The European Uni

{d). The United;

87. Consider the following statements : 89. Recently '@igned a_ deal known as

The Reserve Bank of India’s - recent
directives relating to ‘Storage of

- known as data, chktat command the

‘Acti for Prioritization and
lmi%ntatmn of Cooperatmn Areas in

o1 ©  ghe Nafclear Field’ with which of the
Payment . System Data’, popularly ing countries?
E { R ,

payment system providers that

1. they shall ensure that entire data%
relating to payment .

8ys
operated by them are sto i
system only in India
2. they shall ensure that systems
are owned and ope ublic

sector enterprises

3.  they shall sub the
system to the
Compixoll uditor General of

v India b he 1id of the calendar
year ' ;

Whic! e statements given above

is/are correct? :

fa) 1 only - " ‘

) 1 and 2 only -

¢ 3only

({d) 1,2 and 3
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a) _l Japan

" (b} Russia

{c). The United Kingdom

{d} The United States of America

nsolidated 90. The money multiplier inh an economy
~ increases with which one of the

fol_lowing?
{a) Increase in the cash reserve ratio

(b) Increase in the banking habit of
the population

. {¢} Increase in the statutory _hquidity

ratio

(d) Increase in the populat:ton of the
country

S [RTO.
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92. The word ‘Denisovan’

93. With ferenc to the

-

91. In the context of digital technologies for

entertainment, consider the following

statements ‘

1. In Augmented Reality (AR}, a
simulated environment is created
and the ‘physical world is
completely shut out.

2. In Virtual Reality (VR], images
generated from a computer are
projected onto real-life objecis or
surroundings.

3. AR allows individuals to be present
in the world and improves the
experience using the camera of
smart-phone or PC.

4. VR closes the world, and
transposes an individual, providing
complete immersion experience.

Which of the statements given above
is/are correct?

fa) 1 and 2 only
(bj 3 and 4

¢} 1,2 and 3
(d) 4 only

mentioned in media in refere to
fa) fossils of & kind of din %
(b} an early human species

{c) a cave system found in
India

{d) a geologi %1 the history of
Indian r& ntinent

recent

develo in science, which one of

the following statements is not correct?

{a) Functional chromosomes can be
created by joining segments of DNA
taken from cells of different
species, ' .

fb) Pieces of artificial functional DNA
can be created in lahoratories.

rth-East
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() A piece of DNA taken out from an
animal cell can be made to replicate
outside a living cell in a laboratory.

{d} Cells taken out from plants and
animals can be made to undergo
‘cell division in laboratory petri
dishes.

94. Consider the following statements :

A digital signature is
1. an electronic t identifies
the certifyin thority’ issuing it

2. used to s a proof of identity
of &n vidual to access
info or server on Internet

3. cetronic method of signing an

ic document and ensuring

t the original content is
nchanged

Which of the statements given above
is/are correct?

{fa) 1 only

(b} 2 and 3 only
{c) 3 omnly

(d} 1,2 and 3

95. In the context of wearable technology,

which of the following tasks is/are
accomplished by wearable devices?

1. Location identification of a person

2. Sleep monitoring of a person

3. Assisting the hearing impaired
person

Select the correct answer using the code
given below.

‘fa) 1 only

(b} 2 and 3 only.
fc} 3 only
{d) 1,2 and 3

[P.T.O.
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96. RNA interference {RNAi)’ technology has

gained popularity in the last few years.

Why?

1. It is used in developing gene
silencing therapies.

2. It can be used in developing
therapies for the treatment of
cancer. _ :

3. It can be used to develop hormone
replacement therapies.

4, It can be used to produce crop
plants that are resistant to viral
pathogens.

Select the correct answer using the code
given below.

fa} 1,2 and 4

() 2 and 3

fc} 1and 3

{dj 1 and 4 only

97. Recently, scientists observed the merg
of giant ‘blackholes’ billions of ligh
years away from the Earth. What is
significance of this observation?

fa) Higgs boson partlcle
detected.

{b) ‘Gravitational wave etccted

fc} Possibility of i ac space
travel hole’ was

scientists to

conﬁrmedﬁ
(d) It cnas:ed’ e
un? singularity’.
98. Which of following are the reasons for

the occurrence of multi-drug resistance

in microbial pathogens in India?

1. Genetic predisposition of some
people

2. Taking  incorrect doses of
antibiotics to cure discases

BKL-F-GHP/54A

3. Using antibiotics in livestock
farming

4, Multiple chronic diseases in some
people .

Select the correct answer using the code
given below.

(@ 1 and?2

(b) 2 and 3 only

f) 1,3and 4 _

(@ 2, 3 and 4

protein that is often
menu% news?
(a@}\g olecular scissors used in

eted gene editing
wi\ biosensor used in the accurate
detection of pathogens in patients

% fc) A gene that makes plants pest-

resistant

(d} A herbicidal substance synthesized
in genetically modified crops

99, What is

100. Which one of the following statements is
not correct?
{a) Hepatitis B virus is transmitted
much like HIV.

Hepatitis B, unlike Hepatitis C,

does not have a vaccine.

{c) Globally, the number of people
infected with Hepatitis B and C
viruses are several ﬁmes more than
those infected with HIV.

Some of those infected with
Hepatitis B and C viruses do not
show the symptoms for many
years.

(b}

(d)

(P.T.0.
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